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LINEAR INEQUALITIES

Solved Examples

1. Solve , where x is a natural number.

Watch Video Solution

5(2x + 1) ≤ 35

2. Solve the inequality .

Watch Video Solution

4(3 − x) ≤ 16

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_u9TAPKBlHg3s
https://dl.doubtnut.com/l/_HrNSPVpzzzbx
https://dl.doubtnut.com/l/_knibcrpeWx6k


3. Solve the show the give inequality on the number line: 

, where 

Watch Video Solution

−5 ≤ 3x − 2 < 7 x ∈ R

4. Solve .

Watch Video Solution

|2x + 6| ≤ 16

5. Solve .

Watch Video Solution

|4x − 3| ≥ 5

6. Show the region defined by  on the cartesian.

Watch Video Solution

−1 < y ≤ 4

https://dl.doubtnut.com/l/_knibcrpeWx6k
https://dl.doubtnut.com/l/_tKlTuIhO6Usj
https://dl.doubtnut.com/l/_yEpvZLXPbu6K
https://dl.doubtnut.com/l/_089hUC1JyX8s
https://dl.doubtnut.com/l/_Zd2fV4tCIhb4


Question Bank 13

7. Draw the graphs of the inequality .

Watch Video Solution

y ≤ x

8. Draw the graph of .

Watch Video Solution

x + 2y ≥ − 4

9. Shade the region represented by the inequations.  and 

.

Watch Video Solution

x + y ≤ 3

3x − 2y ≥ 4

https://dl.doubtnut.com/l/_Zd2fV4tCIhb4
https://dl.doubtnut.com/l/_Rx3s92sWdYie
https://dl.doubtnut.com/l/_QmBEPreSs8NM


1. Water frezes at  and boils at . Write an inequality to

show the range of temperature (t) for which water is a liquid.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0∘ C 100∘ C

t < 0∘ C

0∘ C ≤ t ≤ 100∘ C

t > 100∘ C

0∘ C < t < 100∘ C

2. The number line matchign the statement It was so cold in January

in Shimla that the temperature never reached  is

A. 

B. 

10∘ C

https://dl.doubtnut.com/l/_CKgG7VwarWI2
https://dl.doubtnut.com/l/_Eah5E9aBIV0Z


C. 

D. 

Answer: D

Watch Video Solution

3. The solution set of  over a set of positive even integers

is

A. {8,10,12,…….}

B. {2,4,6}

C. {1,2,3,4,5,6}

D. {2,3,6,8}

Answer: B

Watch Video Solution

x + 2 < 9

https://dl.doubtnut.com/l/_Eah5E9aBIV0Z
https://dl.doubtnut.com/l/_2ITWPQDiYJVL


4. The solution set of  over the set of square numbers is

A. {1,2,3}

B. {1,4}

C. {1}

D. {16}

Answer: C

Watch Video Solution

3x − 4 < 8

5. The solution to the inequality  is

A. 

B. 

C. 

−5x > 4

x <
4

5

x > −
4

5

x < −
4

5

https://dl.doubtnut.com/l/_2ITWPQDiYJVL
https://dl.doubtnut.com/l/_E8eO4VhaSK0i
https://dl.doubtnut.com/l/_fO0yATAvjWFc


D. 

Answer: C

Watch Video Solution

x >
4

5

6. Which inequality has the following number line solution: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x − 4 < 16

2x − 6 < 10

2x − 6 > 12

2x − 4 > 16

https://dl.doubtnut.com/l/_fO0yATAvjWFc
https://dl.doubtnut.com/l/_5hSZUEjCwhiD
https://dl.doubtnut.com/l/_Jzluxxg0BZHE


7. Which shows the solution to the inequality ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−3.5x − 12 ≤ 58

x ≤ − 120

x ≥ − 70

x ≤ − 70

x ≥ − 20

8. The range of x giving the solution ste of  is

A. 

B. 

C. 

D. 

−1 < 5x + 4 ≤ 19

−1 ≤ x < 3

−1 < x ≤ 3

−1 ≤ x ≤ 3

−1 < x < 3

https://dl.doubtnut.com/l/_Jzluxxg0BZHE
https://dl.doubtnut.com/l/_Rkii9xmGRF62


Answer: B

Watch Video Solution

9. The inequality , where x is an integer can be

represented on the number line as:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1 ≤ 2x + 4 < 5

10. The solution to the inequality  is|10 − 2x| > 6

https://dl.doubtnut.com/l/_Rkii9xmGRF62
https://dl.doubtnut.com/l/_D3vXQvfzTeuW
https://dl.doubtnut.com/l/_6cFXfhM3niGN


A. 

B.  and 

C.  and 

D.  or 

Answer: D

Watch Video Solution

2x < x < 8

x < − 2 x > 8

x > 2 x < − 8

x < 2 x > 8

11. How many integers are there in the solution set of 

?

A. None

B. Two

C. Fourteen

D. Nine

|2x + 6| <
19

2

https://dl.doubtnut.com/l/_6cFXfhM3niGN
https://dl.doubtnut.com/l/_612T8HP1ZmJV


Answer: D

Watch Video Solution

12. The solution to the inequality  is

A. 

B. 

C. 

D.  or 

Answer: B

Watch Video Solution

−2x + (33 − 52) ≥ 4

x ≥ − 1

x ≤ − 1

x > − 2

x < 2 x > 8

13. The inequality  can be represented on the number

line as:

|3 − p| − 4 < 1

https://dl.doubtnut.com/l/_612T8HP1ZmJV
https://dl.doubtnut.com/l/_fvOfKwqc2Lbi
https://dl.doubtnut.com/l/_CwlO6jNbReoP


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

14. The solution set of the inequality

 is

A. 

B. 

C. 

D. 

2(4x − 1) ≤ 3(x + 4)

x >
14

5

x < 7

x ≤
14

5

x ≥ 7.5

https://dl.doubtnut.com/l/_CwlO6jNbReoP
https://dl.doubtnut.com/l/_MufhqpehjrKQ


Answer: C

Watch Video Solution

15. Which of the following is the solution set of ?

A. 

B. 

C.  or 

D.  or 

Answer: C

Watch Video Solution

∣
∣
∣

x − 5
∣
∣
∣

> 8
2

3

{x : − < x < }
39

2

9

2

{x : − < x ≤ }
9

2

39

2

{x : x >
39

2
x < − }

9

2

{x : x >
9

2
x < }

−39

2

16. If  and , then which one of the

following is correct?

(2x − y < 7) (x + 4y < 11)

https://dl.doubtnut.com/l/_MufhqpehjrKQ
https://dl.doubtnut.com/l/_81tRmhWZGloj
https://dl.doubtnut.com/l/_3mFmEUrkLeR5


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + y < 5

x + y < 6

x + y ≤ 5

x + y ≥ 6

17. The region for which  is a part of the

A. first and second quadrants

B. second and third quadrants

C. third and fourth quadrants

D. fourth and first quadrants

Answer: D

x ≥ 4

https://dl.doubtnut.com/l/_3mFmEUrkLeR5
https://dl.doubtnut.com/l/_setWQnqxq4tB


Watch Video Solution

18. Which of the following inequations represents the shaded region?

A. 

B. 

C. 

D. 

2x + y ≤ 4

2x + y ≥ 4

x + 2y ≤ 4

x + 2y ≥ 4

https://dl.doubtnut.com/l/_setWQnqxq4tB
https://dl.doubtnut.com/l/_j4Lu63BQk3Y1


Answer: A

Watch Video Solution

19. The shaded region is represented by the inequation: 

A. 

B. 

C. 

D. 

y ≥ x

y ≥ − x

y ≥ |x|

y ≤ |x|

https://dl.doubtnut.com/l/_j4Lu63BQk3Y1
https://dl.doubtnut.com/l/_sbnEAUJ7Yj36


Self Assesment Sheet 13

Answer: C

Watch Video Solution

20. The area of the plane region  is

A. 15 sq units

B. 34 sq. units

C. 60 sq. units

D. 120 sq. units

Answer: C

Watch Video Solution

|x| ≤ 5, |y| ≤ 3

https://dl.doubtnut.com/l/_sbnEAUJ7Yj36
https://dl.doubtnut.com/l/_jQMGdZEmvOZF


1. The greatest value of x that satisfies the inequality ,

where x is a prime number is

A. 11

B. 7

C. 10

D. 2

Answer: B

Watch Video Solution

2x + 3 < 25

2. Which graph represents the solution of the inequality x subtracted

from 7 is less than 2

A. 

B. 

https://dl.doubtnut.com/l/_FpO7nspiR9Ky
https://dl.doubtnut.com/l/_l9mOS3LduAkx


C. 

D. 

Answer: C

Watch Video Solution

3. You are buying a carpet for a rectangular room. The carpet canbe

at most 12m long and 6m wide. Which inequality represents the ara

of the carpet is square metres?

A. 

B. 

C. 

D. 

Answer: C

h id l i

A ≤ 36

A ≥ 36

A ≤ 72

A ≥ 72

https://dl.doubtnut.com/l/_l9mOS3LduAkx
https://dl.doubtnut.com/l/_WQzzedOFzrhK


Watch Video Solution

4. The absolute value of a number is its distance from 0 on a number

line. The number line representing the inequaltiy  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

|x| < 4

https://dl.doubtnut.com/l/_WQzzedOFzrhK
https://dl.doubtnut.com/l/_RJKmW6bpxFER


5. The graph of which inequality is shown below:

A. 

B. 

C. 

D. None of the above

Answer: C

Watch Video Solution

y − x ≤ 0

x − y ≤ 0

y + x ≤ 0

https://dl.doubtnut.com/l/_HpdkJSPgHD9t
https://dl.doubtnut.com/l/_hYEbXseg7CwY


6. The solution set of  and  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ≥ 5, y ≥ 0 x ≤ 5, y ≤ 0

x ≥ − 5, y = 0

x = 5, y = 0

x ≥ − 5, y ≤ 0

x ≤ − 5, y ≤ 0

7. Given  and . Which in-equality is not

always correct?

A. 

B. 

C. 

a > 0, b > 0, a > b c ≠ 0

a + c > + c

a − c > b − c

ac > bc

https://dl.doubtnut.com/l/_hYEbXseg7CwY
https://dl.doubtnut.com/l/_jVLasgPGJFtd


D. 

Answer: C

Watch Video Solution

>
a

c2

b

c2

8. The shaded region is represented by the inequality: 

A. 

B. 

C. 

y − 2x ≤ − 1

x − 2y ≤ − 1

y − 2x ≥ − 1

https://dl.doubtnut.com/l/_jVLasgPGJFtd
https://dl.doubtnut.com/l/_lhTmt8n5NseJ


D. 

Answer: A

Watch Video Solution

x − 2y ≥ − 1

9. Solve .

A.  or 

B.  or 

C.  or 

D.  or 

Answer: D

Watch Video Solution

|1 − x| > 3

x > 4 x < − 1

x > 2 x < − 2

x > 5 x < − 2

x > 4 x < − 2

https://dl.doubtnut.com/l/_lhTmt8n5NseJ
https://dl.doubtnut.com/l/_abAbiOQHBbEp


10. If x an integer greater than -10, but less than 10 and ,

then the value of x are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|x − 2| < 3

−10, − 9, − 8, − 7, − 6, − 5, − 4, − 3, − 2, − 1, 0, 1, 2, 3, 4

0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10

0, 1, 2, 3, 4

−1, 0, 1

https://dl.doubtnut.com/l/_kkfF5Uq5RJFq

